Answer Key 1: Supply and Demand

 Answer to question 1:
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$16
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     42,000              50,000   Quantity 

Vanderbilt football tickets

a) Graphed above.

b) The supply curve is perfectly inelastic.  This is because football stadiums are of a fixed size. 

c) The equilibrium price is $16.00 per seat and the equilibrium quantity is 42,000.

d) There would be a surplus because the quantity demanded would only be 26,000 but the stadium (supply) would still be 42,000.  The size of the surplus would be 16,000 empty seats.

e) The Titans would reduce the quantity of Vanderbilt football tickets demanded.  As demand shifts left, the equilibrium price falls but the equilibrium quantity remains at 42,000.  This is because supply remains at 42,000.

f) If income increases, the demand for Vanderbilt football tickets will increase and the demand curve will shift to the right.  Note that the opposite would occur if Vanderbilt football tickets are an inferior good.

Price 





 Supply (S1) 





$16


D2
D1           D3




   






42,000              50,000    Quantity

Answer to question 2:

a) The equilibrium price is $40 and the equilibrium quantity is 500.

b) With a $30 price limit, 1000 are demanded and 200 are supplied, so only 200 are sold.  There is a shortage of 800.

c) A reduction in the cost of production makes suppliers willing to produce more textbooks at any given price because efficiency has increased.  This shifts the supply curve to the right, and increases the number of textbooks sold (S2 in Figure 3).

Figure 3

Price
















     


       S1












    
S2








    

   











 



    




40




30



(price ceiling)






     
D1













   200
   500              1000   
Quantity


E1





E2





D2





D1





E3





E1





E2





E1�





E2�





Shortage








